P

CHAMPION SUPREME 4" WITH BACK, FREE STANDING

936-102
‘|8II
% f:f:f:f:\—CONCRETE
30" 7 =
— - 10" |
\V/
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 630-120 Supreme Direct Bury stand
2 622-111 4' Supreme Champion Seat
3 516-058 3/8"x1-1/2" SS Hex Bolt
4 516-023 3/8" SS Flat Washer 16
5 516-028 3/8" SS Nylock Nut 8

3 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




? CHAMPION SUPREME 4" WITH BACK, FREE STANDING 936-102

DETAIL A
SCALE1:6

\)

DETAIL B
N SCALE1:6

v

1. Drill plastic out of the mounting holes on the legs, seat and back using a 7/16"

diameter drill bit.

Bolt the seat and back to the legs and tighten up.

3.  Mark out the holes for the legs on the ground in the desired location. Dirill 10"

diameter holes at each location to a minimum depth of 30". You need to be

below the frost line in your area.

Place the seat into the holes and support at the desired height. Level the seat.

5.  Fill the holes with concrete and crown the top so that water will run off. Let
stand for 24 hours before removing the supports.

A

»

Tools List

. 7/16" Drill bit

e 9/16"Socket

e 9/16"Wrench

. Imapct Gun (Optional)

. Drill
. Level
Periodic check of bolfs tightness reccommended
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth  defects or other reproductive harm.

=
i~
m

>

. PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


936-302

CHAMPION SUPREME 6" WITH BACK, DIRECT BURY

P

517/16"

- ~N|oo |0
O
%
@)
<
O | m
515
w | W im| O|>
|22 x5z
S| Z|O| ol
Qe |0|T|z|0
% - | O
@.mAMnZHN
o [0 ||«
% T | = 9
Nle|lOIL|2):
Elw| x| X
O|S|©O|&|m
st /3
O.%S
2l a
1S
)
0
v
Ll
Lio|m|lo|m| o
S|~ dN
S|l—|—||o|o
| I T D R A A |
Z|lo|N|~©0 |0 |0
— O | N =] —=|—=
FlY| vl vw|lwv|wv
<
a
S
N[ |«
>
Ll
=

30"

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




? CHAMPION SUPREME 6" WITH BACK, DIRECT BURY 936-302

N DETAIL A DETAIL B
M SCALE2:15 SCALE2:15
v

1. Drill plastic out of the mounting holes on the legs, seat and back using a 7/16"

diameter drill bit.

Bolt the seat and back to the legs and tighten up.

3.  Mark out the holes for the legs on the ground in the desired location. Drill 10" diameter
holes at each location to a minimum depth of 30". You need to be below the frost line
in your area.

4, Place the seat into the holes and support at the desired height. Level the seat.

N

5.  Fill the holes with concrete and crown the top so that water will run off. Let stand for 24
hours before removing the supports.

Tools List

. 7/16" Drill bit

. 9/16" Socket

. 9/16" Wrench

. Imapct Gun (Optional)

. Drill

. Level

Periodic check of bolts tightness reccommended

In accordance to California law: WARNING- This product contains a chemical known to the
State of California to cause cancer and birth defects or other reproductive harm.

. PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 2



cari
Typewritten Text

cari
Typewritten Text

cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


15"

CHAMPION SUPREME 8' WITH BACK, DIRECT BURY 934-502

== > > > > ===

18" | |
7
s W™ —CcoNCRere
637/16"
— - 10" f=——
ITEM NO. PART NUMBER DESCRIPTION QTY.

1 630-120 Supreme Direct Bury stand
2 622-115 8' Supreme Champ Seat/Back
3 516-058 3/8"x1-1/2" SS Hex Bolt 8
4 516-023 3/8"SS Flat Washer 16
5 516-028 3/8" SS Nylock Nut

=
i~
m

>

200 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




CHAMPION SUPREME 8' WITH BACK, DIRECT BURY 934-502

777 LLLLS

DETAIL A
SCALET:8

DETAIL B
N | SCALE1:8
P

1. Drill plastic out of the mounting holes on the legs, seat and back using a 7/16" diameter
arill bit.

2. Bolt the seat and back to the legs and fighten up.

3.  Mark out the holes for the legs on the ground in the desired location. Drill 10" diometer
holes at each location to a minimum depth of 30". You need to be below the frost line
in your areaq.

4,

Place the seat into the holes and support at the desired height. Level the seat.

5. Fillthe holes with concrete and crown the top so that water will run off. Let stand for 24
hours before removing the supports.

Tools List

. 7/16" Drill bit
. 9/16" Socket
. 9/16" Wrench

. Level
. Imapct Gun (Optional)
. Drill o ]
Periodic check of bolts tightness reccommended
In Accordance to California law:  WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth defects or other reproductive harm.

=
i~
m

>

g PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text

Cari
Typewritten Text

Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


@ CHAMPION SUPREME 10" WITH BACK, DIRECT BURY 936-602

‘|5|l -
=
t C ?5 ]
‘|8II
‘ | |
i
30" CONCRETE
49 5/8" 49 13/16"
\
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 630-120 Supreme Direct Bury stand 3
2 622-116 10' CHAMPION SEAT/BACK 2
3 516-058 3/8"x1-1/2" SS Hex Bolt 12
4 516-023 3/8" SS Flat Washer 24
5 516-028 3/8" SS Nylock Nut 12

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

(Al [Rev. X.01 [SHEET 1 OF 2




@ CHAMPION SUPREME 10" WITH BACK, DIRECT BURY 936-602

>
DETAIL A
SCALE1:10

DETAIL B
SCALE1:10

\J

1. Drill plastic out of the mounting holes on the legs, seat and back using a 7/16"
diameter drill bit.

Bolt the seat and back to the legs and tighten up.

3. Mark out the holes for the legs on the ground in the desired location. Drill 10"
diameter holes at each location to a minimum depth of 30". You need to be
below the frost line in your area.

N

4.  Place the seat into the holes and support at the desired height. Level the seat.
5. Fill the holes with concrete and crown the top so that water will run off. Let
stand for 24 hours before removing the supports.
Tools List

. 7/16" Drill bit
. 9/16" Socket
. 9/16" Wrench

. Level
. Imapct Gun (Optional)
. Drill
Periodic check of bolts tightness reccommended
In Accordance to California law:  WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth defects or other reproductive harm.

=
i~
m

>

00 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.

Cari
Typewritten Text


P

CHAMPION SUPREME 4" WITH BACK, FREESTANDING

936-101
l< -]
O O
@ 5 —
18"
\ .
ITEM NO. PART NUMBER DESCRIPTION QTY.
] 630-110 Supreme Bench With Back Stand FS
2 622-111 4' Supreme Champion Seat
3 630-011 4' Bench with Back Brace 1
4 516-023 3/8" SS Flat Washer 20
5 516-028 3/8" SS Nylock Nut 10
6 516-058 3/8"x1-1/2" SS Hex Bolt 8

=
i~
m

>

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




@ CHAMPION SUPREME 4" WITH BACK, FREESTANDING 934-101

DETAIL A DETAIL B
SCALE1:5 SCALE1:5

1. Drill plastic out of the mounting holes on the stands, seat and back using a 7/16"
diameter drill bit.

2.  Aftach seat and back to the stands with fixings provided. Do not tighten up.
3. Aftach the brace to the stands, set on level surface and tighten up all bolfs.

Tools List

. 7/16" Drill bit

. 9/16" Socket

J 9/16" Wrench

. Imapct Gun (Optional)

. Drill

Periodic check of bolts tightness reccommended
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth defects or other reproductive harm.

=
i~
m

>

3y PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


936-301

CHAMPION SUPREME 6" WITH BACK, FREE STANDING

| 4

‘ e

18"

il NI PN Q|
]

%K

dC

<

Sl x

Sl -

5 =

Ol wm C |z
OBO%OKW
=299
P...HP$.TIH
512 12a2Z)2

L

S.mH”SSE
EnC_Sm\uB
De_._L..vIAmomuoarAuv

m 8//:

DA A R RN NG

e_.r_3

€ |l x

eDl

=D

O | un

a | %o
%
Ll
fra)

O|m|o|m|o|®m
P = e v N R A R
21715121922
Zlo|lN|0 |0 |0 |O
— | | N | === ™
| V| lv| v uv|uv |
<
o
O
Z o~ < |1
Z
=

g
2
[
[}
o
g
a
o
T
>
q
o
L
3
b=
c
[
3
B
3
[}
0
T
it}
3
8]
[
0
c
Q
£
£
0
o
»
[0}
[}
o
Q
£
=

[REV. X.01 [SHEET 1 OF 2




CHAMPION SUPREME 6" WITH BACK, FREE STANDING 936-301

DETAIL A DETAIL B
SCALE1:7 SCALE1:7

1. Drill plastic out of the mounting holes on the stands, seat and back using a 7/16"
diameter drill bit.

Attach seat and back to the stands with fixings provided. Do not tighten up.
3. Aftach the brace to the stands, set on level surface and tighten up all bolfs.

A

Tools List

e 7/16" Drill bit

e 9/16"Socket

. 9/16" Wrench

. Imapct Gun (Optional)

. Drill
Periodic check of bolts tightness reccommended
In Accordance to California law:  WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth  defects or other reproductive harm.

W IN

59 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


P

CHAMPION SUPREME 8' WITH BACK, FREE STANDING 936-501
96 -
S s e s
| I - S N — /
C n n ]
I |
2

A

Drill plastic out of the mounting holes on the stands, seat and back using a 7/16"
diameter drill bit.

Attach seat and back to the stands with fixings provided. Do not tighten up.
Attach the brace to the stands, set on level surface and tighten up all bolts.

ITEM NO. PART NUMBER DESCRIPTION QTY.
] 630-110 Supreme Bench With Back Stand FS
2 622-115 8' Supreme Champ Seat/Back
3 516-058 3/8"x1-1/2" SS Hex Bolt 8
4 516-023 3/8" SS Flat Washer 20
5 516-028 3/8" SS Nylock Nut 10
6 630-017 8' BENCH BRACE 1

Us o,
R
*
x
x
x
X

é&

appants

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




CHAMPION SUPREME 8" WITH BACK, FREE STANDING 936-501

o 4 4

DETAIL A DETAIL B
SCALE2:15 SCALE2:15

Tools List

. 7/16" Drill bit

. 9/16" Socket

. 9/16" Wrench

. Imapct Gun (Optional)

. Drill
Periodic check of bolts tightness reccommended
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth defects or other reproductive harm.

g PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


CHAMPION SUPREME 10" WITH BACK, FREE STANDING 934-401

— 10 —

m
L)

ITEM NO. PART NUMBER DESCRIPTION QTY.
] 630-110 Supreme Bench With Back Stand FS 3
516-058 3/8"x1-1/2" SS Hex Bolt 10
516-023 3/8"SS Flat Washer 26
516-028 3/8" SS Nylock Nut 13
630-016 10' BENCH WITH BACK BRACE 1
622-116 10' CHAMPION SEAT/BACK 2

v
m

>

200 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




CHAMPION SUPREME 10" WITH BACK, FREE STANDING 934-401

DETAIL A DETAIL B
SCALE1:10 SCALE1:10

1. Drill plastic out of the mounting holes on the stands, seat and back using a 7/16"
diameter drill bit.

Attach seat and back to the stands with fixings provided. Do not tighten up.
3. Aftach the brace to the stands, set on level surface and tighten up all bolts.

A

Tools List

. 7/16" Drill bit

e 9/16"Socket

e 9/16"Wrench

. Imapct Gun (Optional)

. Drill
Periodic check of bolts tightness reccommended
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth defects or other reproductive harm.

v
m

>

200 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


936-107

12'

CHAMPION SUPREME 4" WITH BACK, SURFACE MOUNT

P

<=

i

i
{
{
{
!
{
{
{
!

vA\YA\A\/A\A\7A,

i
i
A

QTY.
2
16

[REV. X.01 [SHEET 1 OF 2

$7%¥ PROUDLY

USA

SS Hex Bolt

3/8" SS Flat Washer

1/2

DESCRIPTION
Supreme Stand With Back SM

X1

3/8" SS Nylock Nut

Supreme Champion Seat
3/8

4|

516-058
516-023
516-028

622-111

PART NUMBER
633-112

g
2
[
[}
o
g
a
o
T
>
q
o
L
3
b=
c
[
3
B
3
[}
0
T
it}
3
8]
[
0
c
Q
£
£
0
o
»
[0}
[}
o
Q
£
=

ITEM NO.

|




@ CHAMPION SUPREME 4" WITH BACK, SURFACE MOUNT 936-107

DETAIL A
SCALE2: 11

>
DETAIL B
SCALE?2: 11

1. Dirill plastic out of the mounting holes on the stands, seat and back using a 7/16"
diameter drill bit.

Attach seat and back to the stands with fixings provided. Do not tighten up.
Attach the brace to the stands and tighten up all bolts.

Stand the bench in its final location and mark out base holes.

Move the bench to a safe place and drill holes.

Place the bench back, level and secure down using appropriate fixings for the
ground material.

cORrLDN

Tools List

. 7/16" Drill bit
. 9/16" Socket
J 9/16" Wrench

. Level
. Imapct Gun (Optional)
. Drill
Periodic check of bolts tightness reccommended
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth defects or other reproductive harm.

@9
* YEAR %/

. PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


CHAMPION SUPREME 6" WITH BACK, SURFACE MOUNT

A\Y/A

i
:
)
)
)
)
)
)
)
)
y
)
)
/\O/\
My

- 72" -

0900
0900
0990009
0900
0990009
N0 900

AN
V900009

UUSORNR
UUSORNR

n—!
U

15"ﬂ-/

936-307

ITEM NO.

PART NUMBER

DESCRIPTION

QTY.

1

633-112

Supreme Stand With Back SM

622-113

6' SUPREME CHAMPION SEAT/BACK

516-058

3/8"x1-1/2" SS Hex Bolt

516-023

3/8" SS Flat Washer

I WIN

516-028

3/8" SS Nylock Nut

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




In  Accordance
cause cancer and birth

CHAMPION SUPREME 6" WITH BACK, SURFACE MOUNT

DETAIL A
SCALE1:7

936-307

DETAIL B
SCALE1:7

1. Drill plastic out of the mounting holes on the stands, seat and back using a 7/16"
diameter drill bit.

AR A

ground material.

Tools List

7/16" Drill bit
9/16" Socket
9/16" Wrench

Level

Imapct Gun (Optional)

Drill

Periodic check of bolfs tightness reccommended

to California law: WARNINGThis product contains a chemical know to the State

defects or other reproductive harm.

Attach seat and back to the stands with fixings provided. Do not tighten up.
Attach the brace to the stands and ftighten up all bolts.
Stand the bench in its final location and mark out base holes.
Move the bench to a safe place and drill holes.

Place the bench back, level and secure down using appropriate fixings for the

of California to

=
i~
m

>

g PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


CHAMPION SUPREME 8" WITH BACK, SURFACE MOUNT

936-507

‘ 33"
15["
ITEM NO. PART NUMBER DESCRIPTION QTY.

1 633-112 Supreme Stand With Back SM 2
2 622-115 8' Supreme Champ Seat/Back
3 516-058 3/8"x1-1/2" SS Hex Bolt
4 516-023 3/8" SS Flat Washer 16
5 516-028 3/8" SS Nylock Nut 8

=
i~
m

>

203 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




CHAMPION SUPREME 8' WITH BACK, SURFACE MOUNT 934-507

DETAIL A DETAIL B
SCALE1:8 SCALE1:8

1. Drill plastic out of the mounting holes on the stands, seat and back using a 7/16"
diameter drill bit.

2.  Attach seat and back to the stands with fixings provided. Do not tighten up.
3. Aftach the brace to the stands and tighten up all bolts.
4.  Stand the bench in its final location and mark out base holes.
5. Move the bench to a safe place and drill holes.
6.  Place the bench back, level and secure down using appropriate fixings for the
ground material.
Tools List
. 7/16" Drill bit
. 9/16" Socket
. 9/16" Wrench
. Level
. Imapct Gun (Optional)
. Drill
Periodic check of bolts tightness reccommended
In accordance to California law: WARNING- This product contains a chemical known to the
State of California to cause cancer and birth defects or other reproductive harm.
PREMIER POLYSTEEL @
The Best Commercial Outdoor Furniture Available. Period. ;ﬁ"}*x‘f
L&l [REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


P

CHAMPION SUPREME 10" WITH BACK, SURFACE MOUNT

10' -

I\

936-607

ITEM NO. PART NUMBER DESCRIPTION QTY.
] 633-112 Supreme Stand With Back SM 3
622-116 10' CHAMPION SEAT/BACK 2
516-058 3/8"x1-1/2" SS Hex Bolt 12
516-023 3/8"SS Flat Washer 24
516-028 3/8" SS Nylock Nut 12

=
i~
m

>

. PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




CHAMPION SUPREME 10" WITH BACK, SURFACE MOUNT 934-607

DETAIL A DETAIL B
SCALE1:9 SCALE1:9

1. Drill plastic out of the mounting holes on the stands and seats using a 7/16"
diameter drill bit.

2.  Aftach seat to the stands with fixings provided and tighten up.
3. Stand the bench in its final location and mark out base holes.
4.  Move the bench to a safe place and drill holes.
5.  Place the bench back, level and secure down using appropriate fixings for
the ground material.
Tools List
. 7/16" Drill bit

9/16" Socket
9/16" Wrench

. Level
. Imapct Gun (Optional)
. Drill
Periodic check of bolts tightness reccommended
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth  defects or other reproductive harm.

=
i~
m

>

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


	936_DB
	936-102
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View4
	Detail View A (1 : 6)
	Detail View B (1 : 6)


	936-302
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Detail View A (2 : 15)
	Detail View B (2 : 15)


	936-502
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View4
	Detail View A (1 : 8)
	Detail View B (1 : 8)


	936-602
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Detail View A (1 : 10)
	Detail View B (1 : 10)



	936_FS
	936-101
	Sheet1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 5)
	Detail View B (1 : 5)


	936-301
	Sheet1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 7)
	Detail View B (1 : 7)


	936-501
	Sheet1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (2 : 15)
	Detail View B (2 : 15)


	936-601
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 10)
	Detail View B (1 : 10)



	936_SM
	936-107
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View6

	Sheet2
	Drawing View3
	Detail View A (2 : 11)
	Detail View B (2 : 11)


	936-307
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 7)
	Detail View B (1 : 7)


	936-507
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 8)
	Detail View B (1 : 8)


	936-607
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 9)
	Detail View B (1 : 9)






